
Optimization
abs. Max

.

T
local min
a-

Tabs min

At these points f-
'

(x)- o



.tt#fYx7DNE
f'(e) = 0If . ONE

↳ critic:L ";YI



-
×

This has neither an abs
. Max nor ar abs nah

.

-

• f- Cx)
,
continuous ) .

• domain : closed, bonded internal

[ a, b] C- oo , oo)

Sad functions are guaranteed to have
↳⇒



an absolute men Imax
.

These will occur at one of

a) a critical number

b) an endpoint

e. g . f- G)= xe
"

on [0,3]

f- 'G) = 1. e-
"

txde
"

= e-
t textile

"



# = e-
+ ( I - x) f 'H=0

f-
'

(x) DNG

f'll)=o
{critical number only are

e-'



X fk) f-G)= seek

O OT abs arch at += 0

I 1. e- '20.36← abs max at F- I

3 3. e-3=0.14

¢¥g•



d- 7 = 0
dx

of-¥
If a function His defined on an interval and

if f- ' (x) = O on its domain
,

then it as constant.



If fk) is defined or an internal and

if f'G)70 at all points on the internal

then
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the function is strictly increasing
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All these facts come from Meas Value
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First Denature Test

f- (x)
,
defined or an internal around x=c

f'(c) = 0

If f-
'Cx) increases fam neg to pos as

X increases thray x=g f-(x) has a

local min at X=c .



If f' (x) decreases fwm positive to negative

as X increases through tea, FCA has a

local mat at te c
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